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Exercises on : The Keynesian Model of General Economic Equilibrium
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Exercise 01:

1. If the consumption function is:

C=100+0.8Y, Prove that the marginal

propensity to consume (MPC) is equal to

b=0.8. @b LU o) et ¢ C=10040.8Y ezl dls wslsT13)
2. Ifthe average propensity to consume (APC) Wk Al e 0.8= Iy
equals 0.9 at equilibrium, calculate the
equilibrium income Y™ S led) =) ! 0.9= o Lo 2l JRUNICEE]
3. Find the savings function, graph it, and .
) ) T-b= jlsn adt Lol euily (bl Leloe L) ais )
prove that the marginal propensity to save i
(MPS) equals to: 1-b.

Exercise 02: c4
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i . sl Laed) Loxzwls
Find exactlly the numbers of the consumption gl Jetod)

finction C=a+bY?

Explain the marginal propensity to consume (MPC).
) ) ) ) ] éj az 13l Ll ~3) — MPC s 3L o -

Graphically, explain what happen if: a rises; b rises? -

How much is the marginal propensity to save i e b g sl cias

Qa0 Ay dls gl =

(MPS)? Ll W e €Y D ) L el -
Find the saving finction? Graph it?

Explain why the sum of MPC and MPS equals to 1. MPC+MPS-1 gpur ol catt -



Exercise 03 :

Using the data from the exercise 01:

assume that 1=100, illustrate this in a

graph ?

find the agregate demand ? graphit ?

draw the line 459, and explain it ?

illustrate the equilibrium graphically ?
- calculate the equilibrium income Y*
using the method of Aggregate Supply =
Aggregate Demand, and then using the
method of Investment = Saving.?

if | increases to 200, calculate the

multiplier? Calculate the new Y’

Exercise 04:

Using the data from the exercise 02:

Assume that the investment: I= 100+0.3Y,
illustrate this in a graph?

Find the agregate demand ? graph it ?
draw the line 459, and explain it ?
[llustrate the equilibrium graphically ?
Calculate the equilibrium income Y*using
the method of Aggregate Supply =
Aggregate Demand, and then using the
method of Investment = Saving.?

If I increases by 50, calculate the multiplier?
Calculate the new Y’
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